Ay (¢, 1) ; dm% 7 qu(e 77 [pPb]
[—2.4,—1.7] (3.516 4+ 0.047 + 0.083) x10~% 0.398 + 0.005 + 0.025
[—1.7,-1.2] 0.135 £ 0.001 £ 0.002 1.526 4+ 0.012 4 0.091
[ 1.2, —0. 8] 0.245 £+ 0.002 = 0.003 2.766 = 0.02 = 0.171
[—0.8, —0.4] 0.352 £+ 0.002 £ 0.003 3.98 £+ 0.024 £+ 0.248

[—0.4, O] 0.43 £+ 0.002 £ 0.004 4.864 + 0.026 £+ 0.31

[0,0.4] 0.428 + 0.002 £ 0.003 4.844 4 0.026 £ 0.305

[0.4,0.8] 0.349 = 0.002 £ 0.003 3.951 + 0.023 £ 0.246

[0.8,1.2] 0.24 £+ 0.002 £+ 0.003 2.715 £ 0.018 £ 0.17

[1.2, 1.7] 0.132 £ 0.001 = 0.002 1.495 + 0.012 £+ 0.093

17,24] (341 4 0.046 £ 0.085) x10~2  0.386 = 0.005 + 0.025



